AP Statistics
Ch 4-1 Review: 				Name: _____________________________________


1. Suppose a straight line is fit to data and having response variable y and explanatory variable x.  Predicting the values of y for values of x outside the range of the observed data is called:
A.  Correlation
B. Causation
C. Extrapolation
D. Sampling
E. None of the above

2. Suppose that the scatterplot of (x, log y) produces a correlation close to 1.  Which of the following is true?
I. The correlation between the variables x and y will also be close to 1
II. The residual plot of y on x will show a clearly curved pattern of points
III. The difference between consecutive values of y for equal x-intervals is approximately constant.
A. I and II only
B. I and III only
C. II and III only
D. I, II, and III only
E. None of the above


3. If a function is monotonic increasing:
A. It cannot be transformed into a linear equation
B. As x increases, y always increases.
C. As x increases, y always decreases.
D. There is no relationship between x and y
E. None of the above

4. In order to transform y = 1.2 x  to a linear pattern, use:
A.  (x, y)
B. (log x, y)
C. (x, log y)
D. (log x, log y)
E. None of the above



5.  In order to transform y = x 6  into a linear pattern, use:
A.  (x, y)
B. (log x, y)
C. (x, log y)
D. (log x, log y)
E. None of the above

6.    If a linear transformation gives the equation:  log   = 1.2 + 0.7 x, then equation transformed back is:
A. 1.2 (x) 0.7  
B. 15.85 x0.7  
C. 15.85 (0.7)x  
D. 1.2 + (0.7) x
E.  15.85 (5.01) x


7.  Equations that have a common ratio are:
A. Exponential
B. Linear
C. Power
D. All of the above
E. None of the above

8. Correlation and regressions can only be used to describe ______ relationships.
A.  Exponential
B. Linear
C. Power
D. All of the above
E. None of the above


9. If the graph of the ordered pairs (x, y) is exponential, what type of graph is (x, log y)?
A. Exponential
B. Linear
C. Logarithmic
D. Power
E. None of the above



10.  The residual plot of (x, log y) and (log x, log y) are both randomly scattered.   The correlation of the LSRL of (x, log y) is 0.98 and the correlation of the LSRL of (log x, log y) is 0.95.   What is the best model based on this information?
A.  Exponential
B. Linear
C. Logarithmic
D. Power
E. None of the above

11. The regression of (x, log y) gives:  log  =  0.15 + 0.29 x.  Based on the model, find the predicted value for y when x is 5.
A. 1.6
B. 2.25
C. 29.59
D. 39.81
E. None of these


12. A LSRL of (log x, log y) gives:  log  =  0.113 – 0.413 log x.  Based on the model, find the predicted value for y when x = 3.
A. – 0.94
B. 0.824
C. 0.075
D. 0.94
E. None of these

[bookmark: _GoBack]
13.  The transformation of   log y ̂ = 2.35 + 1.5 log x is:
A.  = 223.87 x1.5 
B.  =  223.87 (31.6) x 
C.  =  223.87 (1.50) x
D.  = 223.87 x 31.6 
E. None of these

